Subject: Re: BREAK statement
Posted by g.nacarts on Fri, 03 Jul 2015 15:31:23 GMT

View Forum Message <> Reply to Message

If the problem is the way that | passed the variables then why when | used the BREAK instead of
RETURN the 'EXIT WHILE LOOP' printed? | am not saying that is the same thing obviously is
doing something different but the A_test was there. That's why | get confused.

The problem is that the A_test that | need is "disappeared" instead of updated. But | can't use the
BREAK because | want the value passed out of the function and the RETURN defines this value.
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